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Slope of a LineSlope of a Line
The slope of a nonvertical line is the ratio of vertical change (rise) to  
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horizontal change (run) between any two points on the line. If a line 
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Slopes of Lines in the Coordinate Plane

Negative slope: falls from left to right, as in line j   
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Positive slope: rises from left to right, as in line k

Zero slope (slope of 0): horizontal, as in line    ℓ

Undefi ned slope: vertical, as in line n

Example 1 Find the slope of the line shown. 
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   Write formula for slope.

  =   
2 − (−2)

 — 
1 − 0

   Substitute.

  = 4 Simplify.

Practice Check your answers at BigIdeasMath.com.

Find the slope of the line.
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